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Livestock Production is a key route within which land-based sector?

a) Horticulture.
b) Horse care.
c) Agriculture.
d) Arboriculture.

Rescue centres are a key route within which sector?

a) Animal care.
b) Floristry.

¢) Horticulture.
d) Countryside.

Green keeping is a key route within which sector?

a) Animal care.
b) Horticulture.
c) Countryside.
d) Agriculture.

An exercise rider would be employed in which land-based sector?

a) Animal care.
b) Agriculture.
c) Floristry.
d) Equine.

A window dresser would be found in which land-based sector?

a) Arboriculture.
b) Horticulture.
¢) Equine.
d) Floristry.

Which career can the environmental conservation/countryside sector offer?

a) Kennel worker.
b) Pest controller.
c) Stockperson.
d) Groundsman.

Which of the following would be employed in the agriculture sector?

a) Tractor driver.
b) Rescue worker.
c) Tree climber.
d) River keeper.

The Forestry Commission is most closely linked with which sector?

a) Arboriculture.
b) Animal care.
c) Equine.
d) Floristry.




9 Which of the following organisations is most closely linked to the Equine
industry?
a) The Forestry Industry Safety Accord.
b) Institute of Professional Florists.
c) British Grooms Association.
d) Royal Horticultural Society.
10 The Department for Environment, Food and Rural Affairs is most closely linked
to which sector?
a) Floristry.
b) Horticulture.
c) Agriculture.
d) Arboriculture.
11 What is a business that has an owner liable for all profit and losses known as?
a) A limited company.
b) A partnership.
c) A sole trader.
d) A chain.
12 Wearing company overalls is covered under which policy at work?
a) Attendance.
b) Dress code.
c) Professional standards.
d) Use of social media.
13 In which situation will the complaints policy apply?
a) A person is avoiding tasks at work.
b) A person is not attending work.
c) A person is injured at work.
d) A person is unhappy at work.
14 An employee over 18 years of age is entitled to a 20 minute break if they have
worked for how many hours continuously?
a) 2
b) 4
c) 6
d 8
15 What is an employee entitled to after 26 weeks in employment?

a) Time off for training and study.
b) National Minimum Wage.

c) Contract of employment.

d) Annual holiday allowance.




16

Which of the following is an employee’s responsibility?

a) To complete tasks set in agreed timescales.

b) To carry out disciplinary action for poor attendance.

c) To create safe working schedules.

d) To ensure safe arrangements for the use of equipment.
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